RIRE 1SR

IEES 31 =5
ALSME®RE FEEEE) RUVALBR—E
1 T %= % FATHERHRBRWHEIS
2 I = 15 T EREIFR3FIL4TH
3 I = i Al XK
4 T S 1 E ERRRIZE
5 AasE (542) B £ 6 & 9 A 24 H
6 A # #® 47 B B ®M 6 &£ 10 F 8 H FRT 10 B 00 %
7 ¥ E i 1% 36,751,000 M
8 A A K B @ % 33,410,000 M
9 &= & @& R @ B - H
10 € A AL fi 4% 58 2 2 M 4% (B 3R) 30,124,900 M
ARLEER -
)\ﬁéﬁéﬂféﬁj% # 1 H =20 = 5 (h v ARIGERLE)
A K & % A & A o= &

(9 LLI U 4R 32, 500, 000 L (97.28%)
(BT A 32, 980, 000
R FE 32, 860, 000
B A TS 32, 750, 000
+EARMH 32,900, 000
AHOKRME 32, 800, 000
#i8 JLBE BB 5% (% 33,000, 000

- K& |BXs# LGHE KRIDESERaR ILIGE—

¥ |EFRETFR4FIL4TH7 Fith
LS 35,750,000 M
I # ZEL ©f¥M 6 &£ 10 B 9 B~xfk M 7 & 1 B 24 H




RIRE 1SR

IEES 32

Jjn

ABMERE (RREE) RUALBR—%

—_

%
% 5
= i
= %
/N
o8B 1T
E i
R =
= E & R

© o0 ~N o o1 bA~Aw DN
> % > > H H H H

—_
o

(¥ %)

16 A AL i 4% 58 & 2 2 il 48 (B k) —

% HEHEMEIEZN2

fr ETA—H

Ao EHE
HiE.
TH

= SETRAT7ILMEELISE
=}

B B ff
%
%

6 & 9 A 24 H
6 £ 10 8 8 H

2, 849, 000
i 2,590, 000
(ViR —

H H H H

Sl

10 B8 00 %

ALSmMERES
(FERFER)

AR

g 1 = g 2 [E %
A & A g &

HE

(v aNIFHELE)

Lz #R

2,500, 000

AL (96.53%)

JtiEsEE

2,520, 000

Bt 8858

2, 540, 000

K4

HrA=E LEE ARIDEERER  LIGE—

EILERE
=330

ERETFRA4FIL4TH7 Bt

RiEER

2,150, 000 !

T # ‘L

«fM 6 &£ 10 A 8 A~ Z®EH HM

6

-3

12 B 20 H




RIEEE 151K

ABMERE (RREE) RUALBR—%

—_

%
% 5
= i
= %
/N
o8B 1T
E i
R =
= E & R

© o0 ~N o o1 bA~Aw DN
> % > > H H H H

—_
o

(¥ %)

16 A AL i 4% 58 & 2 2 il 48 (B k) —

&  CFAMRETAMKRE (k) IF

T EFRETFICFHS 1 1FH 1

Al HFHEAK

BT A # TN

S 6 &£ 9 B 24 H

Sf1 6 &£ 10 B 8 H
2, 145, 000

i 1,950, 000

i 4% -

B
H
B &
1%
1%

H H H H

Sl

IEES 33

Jjn

10 B8 00 %

ALSmMERES
(FERFER)

AR

g 1 = g 2 [E %
A & A g &

HE

(v aNIFHELE)

BHOKRME

1,940, 000

TERRHEH

1,940, 000

BEHEEX

1,930, 000

LN BHF M S KRR

1,900, 000

ZAL (97 44%)

K4

LIS FHEESRRIA Xk BHEES

EILERE
=330

KIRETFAaET 18 it

RiEER

2,090, 000 !

T # ‘L

«fM 6 &£ 10 A 8 A~ Z®EH HM

7

-3

1

A 11 B8




